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Directions: Answer the following question(s).

h @ulieﬁe is building a freehouse. She needs 5 pounds of nails to make the treshouse. The table below shows

ow many nails she has bought so far.

Day Pounds of Nails boughil | DOE TL)&-’? aV-VEY
Monday % ' F&\) 27T @ be.s\‘n.
3
4

of f-\‘=5r5

Tuesday
3
1
Wednesdayl 1 3
' 1
Thursday 1 7

How many mere pounds of nails does Jullette need to buy? Enter your answer into the box.

| |

Math Interim 2 2017-18 Assessment ID:  1b.1418418

Directions: Answer the following question(s).

VB 1 -
: Paula’s flight arrived 1 — hours late. How many seconds late did her flight arrive?
2

</

A. 5400
B. 540
C. 180
D. 90
Math Interim 2 2017-18 Assessment ID:  ib.1418418

Directions: Answer the following question(s).

g_ Rudy wanted to draw a rhombus. Instead, he drew the figure below.

Which sentence BEST explains why Rudy’s drawing is NOT a rhombus?
A rhombus is a type of polygon.

A rhombus hags exactly four sides.

A rhombus has four sides of equal length.

A rhombus has two palrs of parallel sides.

Uaows

f




Math Interim 2 2017-18 Assessment JD:  1b.1418418

Directions: Answer the following question(s).

L') ﬁ The table below shows how much Terrance will earn for working different numbers of hours.

Terrance’s Earnings
Number of .
Hours Worked Earnings
1 $6.00
2 $12.00
3 $18.00
4 $24.00
Which graph BEST represents the relationship in the table?
A. Terrance’s Earnings C. Terrance’s Eammings
Ey - F )
24 J 2% |
o2 e oz T 7
E 184 € 15 ;
& 154 & 15- ;
= i E *
T 12 = 1%
£ gl 5 g
8 =) i = 8 I
B 1 6 7
37 3 ; ]
|~ ! . i N
0 1 2 3 4 (s 1 2 3 4
Hours Worked Hours Wotked
B. Terrance’s Earnings D. Terrance’s Earnings
24 : 24-
2 ; 2
3 18- i i ; ¥ i '
& 15 ’ B 15+
= i = i
E o124 : = 12
G \ B g
i 8 i 1 N
& :: 5 ¥
| i ;
3 : § 34 -
0 1 2 3 4 e] 1 2 3 4.
Hours Weorked Hours Worked
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Math Interim 2 2017-18 Assessment ID:;  ib.1418418

Directions: Answer the following question(s).

5} % A table of values for x and y is shown helow.

X | Y

0| 3 '
1 5

2 7 .

3 o |

4 | 11

5 | 183

Which rule can be used 1o describe the relationship between x and y in the table?

multiply by 3 and subtract 2
multiply by 2 and add 1
multiply by 2 and add 3
multiply by 3 and add 2

A

B

C

D
@ % Mario had 8% yards of ribbon for a project. Sue gave him 2% more yards of ribbon. Which is closest

to the number of yards of ribbon Mario had altogether?

A. 5yards
B. 6yards
C. 10vyards
. 1ivyards

N \ _é 3 1 -
7,- Jill walked on Tuesday 3 — miles. On Wednesday, she walked 1 — less than on Tuesday. Which
y 5 4

- equation could be used to find the total number of miles Jil! walked, w, on Tuesday and Wednesday?

A.
32 11w
5 4
B.
3'3"+11=W
5 4 3
e T,
(33m1_)+3,:w
5 4 5
D.

+ 1

L
o
+

[ 4}
;1w

1

3

—
w
o | o
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Directions: Answer the following question(s).

B

——7"__
%: Pablo has 6 dogs.

pablo feeds these dogs a total of 20 pounds of dog food each week.

Pablo feeds each dog an equal amount of dog food each time he feeds them.

Which statement is true?
A. Each dog is fed 3% pounds of dog food each week,

B. Each dogis fed 7 pounds of dog food each week.
(. Eachdogis fed between 3 and 4 pounds of dog food each week.
D. Each dog is fed between 0 and 1 pound of dog food each week.

@ Find the product in SIMPLEST form:

5 8
2o — =
18 12
A g
30
B. ]9
144
C. 20
108
D. 5
o7
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Math Interim 2 2017-18 Assessment D

ib.1418413

Directions: Answer the following question(s).

-7

\O) ‘%' Which of the following statements are true? Select three that apply.

A, 3 1 3 3
Z x —islessthan —, since — is being multiplied by a value less than 1
5 5 5 5
B. 3 a. a 3. o 3
~ x - isequal to =, since — is being multiplied by a value equal to —
5 5 5 5 5
C. a2 4 R . 3
Z x - is greater than —, since — is being multiplied by a value greater than —
5 5 5 5 5
D. 3 4 4 4 .
2 % = igless than =, since — is being muttiplied by a vaiue less than 1
5 5 5 5
E. 3 5, 3 . \ -
= x' = is greater than = since both the numerator and denominator are being multiplied by a value greater
5 5 5
than 1
F‘ 3 B bl 3 N 3 v . . .
—~ x ~— isgreater than -, since — is being multiplied by a vafue greater than 1
5 5 5 5
l'\) Henry can choose from two diiferent plans for his new garden. Plan A has a length of 4 feet and a

2 1
width of 2 = feet. Plan B has a length of 5 feet and a width of 1 — feet. Which planr will give Henry
3 2

a larger garden? Show your work.

1
\% % Four students solved the problem — + 4. The work of each student is shown on the table.
5 ’ .

Wyatt Caden Ernili{f Sarah
5.4 201 1 1|14 4|5 1_5
TXT =1 |BXF /5T 5174 4

Who solved the problem correctly and why?
A. Wyatt, because he multiplied by the reciprocal of the first number. . )
B. Caden, ibecauée he multiptied by the reciprboa] of thé second number. \L
C.' Emily, because she muitiplied both numerators and both denominators.
D. Sarah, because she multiptied by the reciprocals of both numbers.

[lluminate Itembank™
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’ .
It 5 people shared — of a ton of rocks, how much will eachr person. get?
3

15 tons

1
5 - tons

Jim needs % minute on average to complete a multiplication problem on a test. If he continues

working at this pace and completes the test in 20 minutes, about how many probiems were on the

test?
10
20
40
60

Jimmy measured 3 feet 7 inches tall in May. In October, he measured 4 feet 3 inches tali. How much

did Jimmy grow from May to October?
8 inches
10 inches
1 foot
16 inches

) 4

O M8 A o oy

0123456 78910 °

The x—coordinate for Point A is 4,

" The y—coordinate for Point B is 6.

The x-coardinate for Point Cis 6.
The y—coordinate for Point D s 5.
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Directions: Answer the following question(s).

@ How many cubic centimeters are in 135 mm®?
"A. 0,135 om®

B. 135cm®

C. 1,350 cm?

D. 135,000 cm®

r 1
~—P Enter the number of cups equai to 4 — quarts.
2

i lcups

Nikki is using a recipe. The line plot shows the different measurements of spices she needs in

fractions of a tablespoon.

Spices Needed
x.
bt X
X X X X
X X X X
X X X X
f L 1 | | i L ! -
; I f ] | 1 ; i [
o 1+ i 2 r s s z 1
8 4 8 2 ] 4 B8
Tablespoons
Key: X = 1 Spice
What is the total number of tablespoons of spices Nikki will need for the recipe?
AT
28
B. 4L
42
C 3
S
D. 3
6 &
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Math Interim 2 2017-18 Assessment ID:  ib. 1418418

Directions: Answer the following question(s).

——

g Henry created the model below using 1-centimeter cubes.

What is the volume of this model, in cubic centimeters?

96 cm?
61 crmd
41 cm®

35 cm3

00wy

Part A:
> Wr. Bruno has a box that has a length of 15 inches, a width of 4 inches, and a height of 2 inches.

What is the voiume of Mr. Bruno's box?

Pari B:
He wants to make another box that has the same volume, but has different dimensions.

What different dimensions can Mr. Bruno use to create a box that has the same volume? Inciude the
length, width, and height of the hox.

Part C:
How do you know the two boxes have the same volume? Use pictures, words, and/or numbers to

expiain your answer,

Iliuminate Ttembank™ Continue; Tumn to the next page.
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